
Assembly Instructions 

ASSEMBLY RA TING Tools Required For Assembly: 

The Assembly Rating is a 5-point system that
shows the degree of effort needed in 
assembling a specific product (with 1 being
easy and 5 being difficult). For some 
products, two persons are recommended.

EASY O O ®®®DIFFICULT

Allen Wrench 1 
(Included) � 

Phillips Screwdriver
(Not Included) 

Wrench
(Included) 

<-'> 
2 PERSONS RECOMMENDED 

Page 1 of 6 









Justinw
Typewritten Text
2) Align front lower frame (#6) to the left and right frame (#1,#2). Secure with bolts (#B).

Justinw
Typewritten Text
3) Align middle connect tubes (#7) to the left and fight frames (#1,#2). Secure with bolts (#B) by using the Allen wrench (#E).

Justinw
Rectangle

Justinw
Line

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
1) Align rear lower frame (#5) to the left and right frame (#1,#2). Secure with bolts (#B) by using the Allen wrench (#E).

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Lay the cart to its side.

Justinw
Rectangle

Justinw
Typewritten Text
1) Align the middle shelf (#4) to the bottom of the cart. Secure with screws (#D) by using a screwdriver.

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
2) Attach wheel with lock (#11) to the left frame (#1), then attach wheels (#10) to right frame (#2). Secure with a wrench (#H).

Justinw
Rectangle

Justinw
Line



Justinw
Typewritten Text
1) Align the top (#3) to the top of the frames. Make sure to put washers (#F) in-between the top (#3) and side frames (#1,#2). Secure with bolts (#E).

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
2) Align cup rack (#9) to the bottom of the top (#3). Secure with bolts (#A).

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Attach the handle (#8) to the left and right frames (#1,#2), then secure with bolts (#A,#B) and nut (#G).

Justinw
Rectangle




